KNAZMATIKEZ E=I12QZEI3

18. Na Moete Tic é1omoeig:
) 1 3 1 oy X+ 2 2x+1
x-1 3x-2 3x*—bx+2 3x-1 6x-1

19. No Moete Tic Tapakdto e£160OGELC:

i 1 x
x>—x x-1
.. X 1
i =
) x>—4 x+2
e X+1 2
ii + =0
) x2—-1 x*—2x+1
] Ox -1 1 2
iv) =

2 + -
9x“ -1 1-3x 3x+1
x*+7x 2x-1 3
= +
x*-1 x+1 1-x

v) 2-

20. Na Moete 11¢ e€16068LC:

2x—-3 3 5 3 7 1 3
o =— + = , 1+ = —,
e TP e Y
x—1
21. No Moste ti¢ eéiomosic: o) i: X+1:1
+2 X X X

3 2
22. Na Moete 116 eéicmon: X =27 _X 18 81.
x—3 x+9

23. N(x Aboete TIc £loGELC:

5 X X—2
Rt B i x53
jx#l 2 o8 2 6
v x> -1 x*-2x+1 ' X+2 x-2 x*—-4

24. Na Moete 11¢ €E160681C:

1 3 5 3 5 1
) T h2 =7 2 = o J
2x—3 2x°—-3x X X +x—-2 x-1 x+2




